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AVEC International Summer School, Peyresq / France, 2003

Scenarios questionnaire

Your task:

®" To consider the current state of the society,
economy and environment in Europe

®" To think about plausible developments of
these by the 2050s

" To assign subjective probabilities to different
outcomes
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AVEC International Summer School, Peyresq / France, 2003

Scenarios questionnaire

Some rules:

Anonymous
Please complete this here and now
No conferring with your neighbour

Please respond to all questions even if you think
you know nothing about the measures listed

" Please hand in the questionnaire to me before
the lecture (in approx. 30 mins)
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AVEC International Summer School, Peyresq / France, 2003

Concarted Action funded by the Sth Framawomk Programma of the Eurape an Commiss]
«Energ and Sustainable Life time 2001 - 2004

more familiar with .
AYEC 2050 Scenarios questionnaire. Are you ¥asednorth or south of latitude 47.5°N? Vienna 22?2
Please enter your estimate of the percentage likelihood of each outcome listed occurring by 2050 for the factors
described {(integer values hetween 0 and 100%). Check that the sum of the likelihoods in each row is 100%o.

FPopulation of Europe (505 million in 1995)
Fopulation (rallion) =405 405430 |430-455 [ 455480 [480-505 [ 505530 [330-335 [ 555380 | 3E0-605 [=aA05
Likelihood of ocowrrence (%)

Gross Domestic Product (GDP) per capita (OECD Europe = 23600; Eastern Europe = 2800 in 1993)
OECD Ewope (thousand USF) [=23 8 230286 |MEAIIR (336380 [ZEAA56 (436480 420036 [H3658A [DE0A36 (=636
Likelihood of ocourrence (3%)
Fastern Europe (thousand USF) [ 28 2878 |TE1ZE [12B-1TE |178-208 |28V 8 |JT -3 |38 [3Ta- 408 | =418
Likelihood of ocourrence (%%)

Change in emissions of acidifying and eutrophying compounds (relative io 2000)
Change in 50; emdssions (%) | =<-20 SE0- o0 |-o0--40 [-40--20 {-20-0 o-20 20-40  |40-e0  [|al-20  |=E0
Likelihood of accurternce (%)
Change in O, erissions (%) | =-20 SE0 - 60 |-60--40 [-40--20 {-20-0 o-20 20-40 |40-e0 [|el-20  |=80
Likelihood of ocourrerce (%%

Change in European land use (relative 1o 1995)
Change inagricultural area (3%) | =-20 20--15 |-15--10 [-10--5 [-5-0 -5 5-10 10-15 [15-20 [|=20

Likelihood of ocowrrerce (3%)
Change in whan area (3] =20 2a0--15 |-1s--10 [-0--5 [-5-0 0-5 5-10 10-15 |15-20 |=20
Likelihood of ocowrrerce (3%)
Change in forest arvea (3] =20 ETESE BEEE T BT 0-5 5-10 10-15 [15-20 |=20
Likelihood of ocowrrence (%%)
Relative sea-level change (relative to 2000)
Helzinl, Finland (o) =40 SA0- 300 |-30--20 [-20--10 {-10-0 u-10 0-20 |20-20 [30-40 =40
Likelihood of ocourrence (%%)
Harburg, Crerraany (o) =40 A0 - .30 |-30--20 [-20--10 {-10-0 o-10 n-20 |20-20 [30-40 |=40
Likelihood of ocourrence (%)
Wenice, Italy (cmy) =40 -0 - 300 |-30--20 [-20--10 {-10-0 o-1n n-20 |20-20 [30-40 |=40
Likelihood of ocourrence (%)
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- Vienna = 48.2°N
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AVEC International Summer School, Peyresq / France, 2003

Concarted Action funded by the Sth Framawomk Programma of the Eurape an Commiss]
«Energ and Sustainable Life time 2001 - 2004

more familiar with .
AYEC 2050 Scenarios questionnaire. Are you ¥asednorth or south of latitude 47.5°N? Vienna 22?2
Please enter your estimate of the percentage likelihood of each outcome listed occurring by 2050 for the factors
described {(integer values hetween 0 and 100%). Check that the sum of the likelihoods in each row is 100%o.

FPopulation of Europe (505 million in 1995)
Fopulation (rallion) =405 405430 |430-455 [ 455480 [480-505 [ 505530 [330-335 [ 555380 | 3E0-605 [=aA05
Likelihood of ocowrrence (%)

Gross Domestic Product (GDP) per capita (OECD Europe = 23600; Eastern Europe = 2800 in 1993)
OECD Ewope (thousand USF) [=23 8 230286 |MEAIIR (336380 [ZEAA56 (436480 420036 [H3658A [DE0A36 (=636
Likelihood of ocourrence (3%)
Fastern Europe (thousand USF) [ 28 2878 |TE1ZE [12B-1TE |178-208 |28V 8 |JT -3 |38 [3Ta- 408 | =418
Likelihood of ocourrence (%%)

Change in emissions of acidifying and eutrophying compounds (relative io 2000)
Change in 50; emdssions (%) | =<-20 SE0- o0 |-o0--40 [-40--20 {-20-0 o-20 20-40  |40-e0  [|al-20  |=E0
Likelihood of accurternce (%)
Change in O, erissions (%) | =-20 SE0 - 60 |-60--40 [-40--20 {-20-0 o-20 20-40 |40-e0 [|el-20  |=80
Likelihood of ocourrerce (%%

Change in European land use (relative 1o 1995)
Change inagricultural area (3%) | =-20 20--15 |-15--10 [-10--5 [-5-0 -5 5-10 10-15 [15-20 [|=20

Likelihood of ocowrrerce (3%)
Change in whan area (3] =20 2a0--15 |-1s--10 [-0--5 [-5-0 0-5 5-10 10-15 |15-20 |=20
Likelihood of ocowrrerce (3%)
Change in forest arvea (3] =20 ETESE BEEE T BT 0-5 5-10 10-15 [15-20 |=20
Likelihood of ocowrrence (%%)
Relative sea-level change (relative to 2000)
Helzinl, Finland (o) =40 SA0- 300 |-30--20 [-20--10 {-10-0 u-10 0-20 |20-20 [30-40 =40
Likelihood of ocourrence (%%)
Harburg, Crerraany (o) =40 A0 - .30 |-30--20 [-20--10 {-10-0 o-10 n-20 |20-20 [30-40 |=40
Likelihood of ocourrence (%)
Wenice, Italy (cmy) =40 -0 - 300 |-30--20 [-20--10 {-10-0 o-1n n-20 |20-20 [30-40 |=40
Likelihood of ocourrence (%)
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AVEC International Summer School, Peyresq / France, 2003

Concarted Action funded by the Sth Framawomk Programma of the Eurape an Commiss]
«Energ and Sustainable Life time 2001 - 2004

more familiar with
AYEC 2050 Scenarios questionnaire. Are you ¥asednorth or south of latitude 47.5°N? North ...............
Please enter your estimate of the percentage likelihood of each outcome listed occurring by 2050 for the factors
described {(integer values hetween 0 and 100%). Check that the sum of the likelihoods in each row is 100%o.

FPopulation of Europe (505 million in 1995)
Population (rnillion) =405 405430 [430-455 [455-480 [4B0-505 | 505-530 [530-555 | 555-580 [5E0-605 |=605

Likelihood of occurrence (%) 0 0 10 20 30 25 10 4 1 0 >=100

Gross Domestic Product (GDP) per capita (OECD Europe = 23600; Eastern Europe = 2800 in 1993)
OECD Ewope (thousand USF) [=23 8 230286 |MEAIIR (336380 [ZEAA56 (436480 420036 [H3658A [DE0A36 (=636
Likelihood of ocourrence (3%)
Fastern Europe (thousand USF) [ 28 2878 |TE1ZE [12B-1TE |178-208 |28V 8 |JT -3 |38 [3Ta- 408 | =418
Likelihood of ocourrence (%%)

Change in emissions of acidifying and eutrophying compounds (relative io 2000)
Change in 50; emdssions (%) | =<-20 SE0- o0 |-o0--40 [-40--20 {-20-0 o-20 20-40  |40-e0  [|al-20  |=E0
Likelihood of accurternce (%)
Change in O, erissions (%) | =-20 SE0 - 60 |-60--40 [-40--20 {-20-0 o-20 20-40 |40-e0 [|el-20  |=80
Likelihood of ocourrerce (%%

Change in European land use (relative 1o 1995)
Change inagricultural area (3%) | =-20 20--15 |-15--10 [-10--5 [-5-0 -5 5-10 10-15 [15-20 [|=20

Likelihood of ocowrrerce (3%)
Change in whan area (3] =20 2a0--15 |-1s--10 [-0--5 [-5-0 0-5 5-10 10-15 |15-20 |=20
Likelihood of ocowrrerce (3%)
Change in forest arvea (3] =20 ETESE BEEE T BT 0-5 5-10 10-15 [15-20 |=20
Likelihood of ocowrrence (%%)
Relative sea-level change (relative to 2000)
Helzinl, Finland (o) =40 SA0- 300 |-30--20 [-20--10 {-10-0 u-10 0-20 |20-20 [30-40 =40
Likelihood of ocourrence (%%)
Harburg, Crerraany (o) =40 A0 - .30 |-30--20 [-20--10 {-10-0 o-10 n-20 |20-20 [30-40 |=40
Likelihood of ocourrence (%)
Wenice, Italy (cmy) =40 -0 - 300 |-30--20 [-20--10 {-10-0 o-1n n-20 |20-20 [30-40 |=40
Likelihood of ocourrence (%)
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AVEC International Summer School, Peyresq / France, 2003

Concarted Action funded by the Sth Framawomk Programma of the Eurape an Commiss]
«Energ and Sustainable Life time 2001 - 2004

more familiar with
AYEC 2050 Scenarios questionnaire. Are you ¥asednorth or south of latitude 47.5°N? North ...............
Please enter your estimate of the percentage likelihood of each outcome listed occurring by 2050 for the factors
described {(integer values hetween 0 and 100%). Check that the sum of the likelihoods in each row is 100%o.

FPopulation of Europe (505 million in 1995)
Population (rnillion) =405 405430 [430-455 [455-480 [4B0-505 | 505-530 [530-555 | 555-580 [5E0-605 |=605

Likelihood of occurrence (%) 0 0 10 20 30 25 10 4 1 0 >=100

Gross Domestic Product (GDP) per capita (OECD Europe = 23600; Eastern Europe = 2800 in 1993)
OECD Ewope (thousand USF) [=23 8 230286 |MEAIIR (336380 [ZEAA56 (436480 420036 [H3658A [DE0A36 (=636
Likelihood of ocourrence (3%)
Fastern Europe (thousand USF) [ 28 2878 |TE1ZE [12B-1TE |178-208 |28V 8 |JT -3 |38 [3Ta- 408 | =418
Likelihood of ocourrence (%%)

Change in emissions of acidifying and eutrophying compounds (relative io 2000)
Change in 50; emdssions (%) | =<-20 SE0- o0 |-o0--40 [-40--20 {-20-0 o-20 20-40  |40-e0  [|al-20  |=E0
Likelihood of accurternce (%)
Change in O, erissions (%) | =-20 SE0 - 60 |-60--40 [-40--20 {-20-0 o-20 20-40 |40-e0 [|el-20  |=80
Likelihood of ocourrerce (%%

Change in European land use (relative 1o 1995)
Change inagricultural area (3%) | =-20 20--15 |-15--10 [-10--5 [-5-0 -5 5-10 10-15 [15-20 [|=20

Likelihood of ocowrrerce (3%)
Change in whan area (3] =20 2a0--15 |-1s--10 [-0--5 [-5-0 0-5 5-10 10-15 |15-20 |=20
Likelihood of ocowrrerce (3%)
Change in forest arvea (3] =20 ETESE BEEE T BT 0-5 5-10 10-15 [15-20 |=20
Likelihood of ocowrrence (%%)
Relative sea-level change (relative to 2000)
Helzinl, Finland (o) =40 SA0- 300 |-30--20 [-20--10 {-10-0 u-10 0-20 |20-20 [30-40 =40
Likelihood of ocourrence (%%)
Harburg, Crerraany (o) =40 A0 - .30 |-30--20 [-20--10 {-10-0 o-10 n-20 |20-20 [30-40 |=40
Likelihood of ocourrence (%)
Wenice, Italy (cmy) =40 -0 - 300 |-30--20 [-20--10 {-10-0 o-1n n-20 |20-20 [30-40 |=40
Likelihood of ocourrence (%)
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AVEC International Summer School, Peyresq / France, 2003

Concarted Action funded by the Sth Framawomk Programma of the Eurape an Commiss]
«Energ and Sustainable Life time 2001 - 2004

Please enter your estimate of the percentage likkelihood of each outcome listed occurring by 2050 for the factors
described (integer values between 0 and 100%0). Check that the sum of the likelihoods in each row is 100%.

Global mean annual CO; conceniration (e.g. at Mauna Loa, Hawaii)

Cl; concentration (ppm) = 270 270370 |F70-470 [470-370 |570-670 |@T0-7T0 0 [TY0-ETO [ET0-970 [970-10°70 |[=1070
Likelihood of occurrence (%)
Climaie in northern Europe (north of 47.5°N) relative to 1961-1990
Ivlean winter (DJF) = .E EoA A ] 2-0 n-2 2-4 N f-E =E
terperature change (*C)
Likelihood of occurrence (%)
Ivlean winter (DJF) = -0 -A0- 2300 |-30--20 [-20--10 [-10-0 0-10 1n-20 [20-30 ([30-40 (=40
precipitation change (%)
|| Likelihood of orcwrrence (%)
Ilean suraner (JJA) =.E SE-A -6 I SA-0 n-2 2-4 4-4 f-E =
termperature change (*C)
Likelihood of occurrence (%)
IWlean surmer (JT&) =40 SA0- 2300 |-30--20 [-20--10 [-10-0 0-10 1n-20 [20-30 ([z0-40 [=40
precipitation change (%)
Likelihood of occurrence (%)
Climaie in southern Europe (south of 47.5°IV) relative to 1961-1990
Mean winter {DJIF) =B EoA G- ] 2o n-2 2-4 44 6-E =¥
ternperature change (*C)
Likelihood of occurrence (%)
Mlean winter (DJF) =40 SA0- 2300 |-30--20 [-20--10 [-10-0 0-10 1n-20 [20-30 ([z0-40 (=40
precipitation change (%)
lihood of occurrence %45
[lean surmener (JTA) =.E EoA G- ] 2.0 n-2 2-4 44 f-E =E
termperature change (*C)
Likelihood of occurrence (%)
Ivlean surammer (JT8) =40 SA0- 300 |-E0--20 [-20--10 [-10-0 0-10 =20 [20-30 [30-40 (=40
precipitation change (%)
Likelihood of occurrence (%)
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Scenarios questionnaire

Good luck!

8.12.2003
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